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8. The following cell has a potential of 
0.55v at 25℃ 
Pt(s)

|𝐻ଶ(1𝑏𝑎𝑟)|𝐻ା(𝑎𝑞)(? 𝑀)‖𝐶𝑙ି(1𝑀)ห𝐻𝑔ଶ𝐶𝑙ଶ(ௌ) |𝐻𝑔(1) 
What is the pH of the solution in the Anode 
Compartment? 
(Given E°=0.28V for calomel electrode) 

9. The resistance of 0.01M solution of an 
electrolyte was found to be 210 Ohm at 
25℃. Calculate the molar conductance of 
the solution of 25℃. , if the cell constant is 
0.88 cm-1  

10. The electrical resistance of a column of 
0.05 mol L-1.NaOH solution of diameter 
1cm and length 50cm is 5.55× 10ଷ ohm. 
Calculate its resistivity, conductivity and 
molar conductivity. 

 
 BIOLOGY 

1. How many kinds of phenotype and 
genotype would you expect is F2 
generation in  a monohybrid cross, give the 
example. 

2. What are the characteristic features of true- 
breeding line? 

3.  With the help of a punnett square, find the 
% of heterozygous individual in a F2 
population in a cross involving a true 
breeding pea plant with green pods and  
yellow pods respectively. 

4. Mention the advantages of selecting pea 
plant for experiment by Mendel. 

5. Define and design a test cross with an 
example. 

6. a) Explain the phenomena of dominance   
and Co-dominance, taking ABO blood 
group as an example. 
b)  What is the phenotype of the following? 

7.    A di-hybrid, plant on self-pollination 
(TtRr × 𝑇𝑡𝑅𝑟) produced 400 phenotype 
with 9 type of genotype.How many seeds 
will have genotype TtRr? 

8.    Define 
i) Allele 
ii) Heterozygous 
iii) Hemizygous 
iv) Homologous 

9.  What is law of segregation. Explain with 
example. 

10 What is exception of mendelian law give the 
two examples  

   

MATHS 

1. If (x)=sinିଵ ቄ
√ଷ

ଶ
𝑥 −

ଵ

ଶ
√1 − 𝑥ଶቅ , −

ଵ

ଶ
≤ 𝑥 ≤ 1, 

then f(x) is equal to 

a) sinିଵ ቀ
ଵ

ଶ
ቁ − sinିଵ 𝑥 

b) sinିଵ 𝑥 −
గ

଺
 

c) sinିଵ 𝑥 +
గ

଺
 

d) None of these 
2. The greatest and least values of (sinିଵ 𝑥)ଷ +

(cosିଵ 𝑥)ଷ are 

a) ିగ

ଶ
,

గ

ଶ
 

b) -ିగయ

଼
,

గయ

଼
 

c) గయ

ଷଶ
,

଻గయ

଼
 

d) None of these 
3. Find the maximum value of 

(secିଵ 𝑥)(𝑐𝑜𝑠𝑒𝑐ିଵ𝑥), 𝑥 ≥ 1 

Let A=൥
−5 −8 −7
3 5 4
2 3 3

൩  𝑎𝑛𝑑 𝐵 = ቈ
𝑥
𝑦
3

቉.  

If AB is a Scalar multiple (𝜆 ≠0) of B then the 
point (x,y) lies on the whose 

a) X-intercept is -1 
b) Slope is-1 
c) y -intercept is 1 
d) distance from origin is 2 

4. If A is a Square matrix of order 2, then  
-tr(A2) + (tr(A))2 is equal to 
a) 0 
b) det.(A) 
c) 2det.(A) 
d) –det.(A) 

5. If A=ൣଵ
ଶ

ିଵ
ଵ

൧, 𝐵 = ൣ௔
௕

ଵ
ିଵ

൧and 

(A+B)2=A2+B2+2AB then 
a)  a=-1 
b) a=1 
c) b=2 
d) b=-2 
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6. If A=k൥
−1 2 2
2 −1 2
2 2 −1

൩ is a matrix such that 

AAT=l, then k is equal to 
a) 1 

b) ½ 
c) 1/3 
d) -1/3 

7. Let A be a 2× 3matrix whereas B be a 
3× 2 matrix. If det.(AB)=4, then the value 
of of det.(BA) is 
a) -4 
b) 2 
c) -2 
d) 0 

8. For what value of x: 

[1 2 1]൥
1 2 0
2 0 1
1 0 2

൩ ൥
0
2
𝑥

൩ = 0? 


